SET -32 || ANSWERS WITH EXPLANATION | | Exam held on : 20/03/2023 || 05:15 PM

| ENGLISH LANGUAGE AND COMPREHENSION i|

1. (1) (1) 3. (2 4. (2) 5. (3) 6. 4) 7. (4) 8.
10. (4) 11.(1) 12. (4) 13.(2) 14. (1) 15.(1) 16. (4) 17. (
19. (1) 20.(2) 21.(3) 22.(1) 23. (1) 24. (1) 25. (4)
EXPLANATION:-
6. (4) Replace ‘been’ with ‘be’.

‘Modal verbs Can/could/shall/should etc. + V| ’is the correct structure.

8. (1) ‘Debauchery’is incorrectly spelt here, means- extreme and unreasonable involvement in
physical pleasures.

16. (4) Replace ‘so for the sakes of’ with just for the sake of’.

WORD MEANING IN ENGLISH MEANING IN HINDI

Absolute Free or nearly free from mixture, pure ik

Abundance A large quantity, plenty cpjri

Arraign To bring a person to a court of law in order to formally accuse VKT yxkuk
him/her of a crime

Astrology The study of the positions and movements of the stars and planets  T;ir't "L
and the way that some people believe they affect people and events

Concealment The act of hiding something fNiku dh fd;k

Concurrent Operating or occurring at the same time leort!

Conscience Knowledge of right and wrong and a feeling one should do what is  VvrjiRel dh viokt] tefj
right

Drought A prolonged dry period in the natural climate cycle that can occur I
anywhere

Dubious Doubtful 1fnk/

Emphatic Said or expressed in a strong way (dFi] wito;flg wifn)

10 ik

Feast A meal with plenty of food and drink nkor

Flounder To struggle to move or obtain footing yMeMiuk

Genealogy The study of family lines of ancestors 0"lloyh

Gregarious Tending to associate with others of one’s kind, social >.M e jguokyk

Lair A place where you hide, stay alone or where lions rest etc. eln

Libertarian A person who believes in liberty of thought and action eflijoknh

Malignant Evil in influence or effect, injurious Nrd

Physiology Study of body functions *kihj fA;k foKku

Psychology The scientific study of the mind and the way that people behave eukfoKku

Sheer Used to emphasize the size, degree or amount of something ,dne

Steady Developing, growing or happening gradually and at a regular rate fu;fer

Straighten To make or become straight Ih/k djuk

Wallow To roll oneself about in a lazy, relaxed, or ungainly manner VIV yxiuk
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Statement II-
7+6%x4-5+3=22
Interchanging 5 and 7.
5+6x4-7+3=22

14. (2) Except option 2, all are in the
form of Baby — adult
15. (2) Charlies brother's wife is Penny

I GENERAL INTELLIGENCE & REASONING |
1. (3)11:1331 — (11)*— 1331
12: 1728 — (12)°— 1728

16 : 4086 — (16)°— 4096
Not(4086)
13 :2197 — (13)°— 2197

Charlie —@®=—Penny

|
O

5404_ L9 L
37773

2. (1)The people who are good at 16.(1)(23)% (6), (18)* < (529,36,324) 80
exactly two sports = 11+14 + 18 (7)2, (12)%, (10)% « (49,144,100) = 2= 290
=43 Similarly, 3

3. (4)Total age of Sweta, Damini,

(17)3 (2)% (32)* < (289,4,1024)

Neither statement I nor II correct

Supriya=S6years 1z (1D E K A
3 years ago their age collectively 5 45 11 1 1. (3)2. (1) 3. (4) 4. 3)5. (3)
decreases by =3x39 years vV 6. (2) 7. (1) 8 (3) 9. (4) 10 (2)

Before three years total age of add 11.(3) 12.(3) 13.(3) 14.(2) 15. (2)
sweta, damini and supriya = 56 i;l 16. (1) 17.(1) 18.(4) 19.(1) 20. (2)
=9 =47 years. 5 45 2 1 21. (4) 22.(2) 23.(3) 24.(1) 25. (4)
12 24 72 imi
4. (3)12, 24, 72 o T ~T Similarly, I QUANTITATIVE APTITUDE |
x2 x3 A O R BG 1. (2)Let, two number are
1632 96 11518 2 7 10x, 13x
16, 32, 96 - X2 x3 a:{d agd 30% of first number = 16
Similarly, 6 9 0
14 28 84 56 9 27 100 ¥10x= 16
14, 28, 84 — \_22 \;32 18. (4) — x-2)
K I -

5. B)abs/abs/abs/abs 19-(1) ~_7 2 (0dd) B=13x=13x2=26

6. (2) -2 +6 26

7. (1) D E H W X A 50% of B = ——= 13

T T NN T 2
8. B) Snacks +1  +3 +1 43 2. (2) Ratio of production of
N O R
@ . compa'ny C,and C,.
+1 +3 C, 0 Gy
20. (2) (Consonants + 2) 100 : 50
9. 4) (Vowels no change) 2 !
1 U 21 88 445 2676 S 3. (4) Total CP of D, E and F =
Dot d i rdaerd And 550 + 750 + 650 = 1950
14 *Ql Ql Ql l l *Ql l l Total SP of E, F and G = 700 +
10.(2)196-2 > 196 > — =2 U VvV A 450 + 650 = 1800
7 Similarly, Percentage of total CP to SP
28 M I N E 1950
784-4 (784 > =4 +2l \L Q\L \L =00 X100 = 108.33%
Similarly, O 1 _P E 4. (4) sech x 1si®
3136-8 N ﬁz 8 21. (4)4. Ga¥ety secO x cosO =1
V3136 = 77 1. Gain 5. (3) 3tan6 = 5 sin®
11.(3) 3. Gainsay <in®
2. Gaiter .
3 = 5 sin®
12.(3)S +1, T S 41T 5. Gauge * cose S
U_-1,V U —1 v o 22.(2) 3
1 +1 23. (3)Nib is a part of Pen In the cosb =3
O SimilarlyN %5 O same way Room is a part of the
S 1T R_-1,5 house 6. (1) 6 year ago total age of
24. (1) ’ (Abhay + wife + child)
? : E ; : i 25: (4) Statement I - ;rtie);lts azge1 g? (Abhay + wife +
— e e 4x7+8+2-5=14 child) = 126 + 3 x 6
1l F Interchanging 5 and 7. - 126 + 18 = 144 years
13. (3) Army is a collective noun of Ax5+82-7=14 Present age of his wife and

soldiers. In the same way, Shoal
is a collective noun of Fish.

=20+4-7=14
=17 # 14

child =30 x 2 + 8 x 2
=60+ 16=76
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10.

11.

12.

Age of Abhay = 144 years — 76
years. = 68 years.

(1) 7 3A 215 is divisible by 11.
Then difference of sum of their
alternate digit must be zero or
divisible by 11.

V-
A 2 1 5
<~ " _~
(7+A+1)-(3+2+5) =0
8+A-10=0
A=2
If 56B 26 is divisible by 9 then
their sum of digit also divisible
by 9.
5S+6+B+2+6 19+B
9 =9
Then B must be 8.
LA=2and B=8
A+B=2+8=10
B)p+taq=35, pq=18

VR
7 3

p’+q’=(p+q) [(p*+q)* - 3pq]
= 5[5% -3 x 18]
= 5 [25 - 54]

= 5[-29] =-145
(1) 60% of 870 —./1444 +18%19

3
5 x870 — 38 + 342

= 522 - 38 + 342 = 826
70

(3) 105 (<~ y) =1n5 (x + 3)
7 3
To&=¥)=75&+Y)
7(x-y)=3kx+y)

7x -7y =3x+ 3y
4x = 10y

x_3
y 2
2
Percentage of x toy = 5 100
=40%
1

3) 10% - -2 L
(3) 10% =700 = 10
R : R1

10: 11

2

R
Ratio of area of circle ={Ej
1

_100

T 121
Area of circle increased by
21%.
(3) (a+b)? = 100, ab =25
a%+ b%+ 2ab = 100

13.

14.

15.

16.

17.

18.

a’+ b?+ 2ab-4ab = 100 — 4ab

a’+ b?-2ab = 100 — 4x25
(@a-b)2=0
a-b=0

(1) Average production of
wheat in 5 different states.
60+80+62+50+48
5

300
= T = 60 tonnes.

(3)yx=-2 =1

o[-0
|

5ol

[1][4+1+2]
-1 x7=-7
4) A
’i26cm

B 24 cmC

From Pythagorean theorem.
AB =/(26) - (24)°
=J676-576 T+/100

AB =10 cm
(4) 90° angle only make when
PQ is diameter of the circle.

N

90°
Q

PO =15cm
0OQ =15cm
PQ =30 cm

(o)
(4) 8% discount = 25

x23
25

SP =

MP _23 18400
25

25
MP = 18400x 53 = 20000

(2) Total number of car sold in
January and April more than
the number of car sold in May
= 5400 x (28% + 24% - 12%)
5400 x (52% — 12%)

40
5400 x

100 = 2160

. (1) Principle = 4000

Amount = 4960
SI of 4 years = 960

960
SI of 1 year = 4 240

Rate of interest increased to

3
1.5 times = 6%><§ = 9%

SI for 4 years = 4000x%

=3%1440
Amount after 4 years = 4000 +
1440 = 35440

100 <%

. (3) Let, the efficiency of A = 10x

Total work = 10x x 20 = 200x
Time was taken with 80%

00x
8x

2
efficiency = = 25 days.

. (4) Radius of circular park

_*20_ 510
5 m
. 5
Speed in m/sec. = 9x —
18
5
= Em/sec.

Circumference of circular park

22
=2nr =2 x 7><210= 1320 m

Time taken to cover circular

1320
park = 5 =528 second
2
=8.8m
. (3) Area of square = (side)? =
1156
(side = 34)

Length of rectangle

=2 x side =2 x 34 = 68 cm
Breath of rectangle = side — 14
=34-14=20cm

Ratio=L : B
68 : 20
17 : 5

. (3) Total distance covered

= Time x Speed

1
=25 x12km/h

13
= Ex12:26 km
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26
Time taken by cycle = 13~ 2

hrs. 120 minutes)

(4) sec60° + tan15° — sin?90°
=2+ 1-(1)?

=2

(3) CP = 4500 + 500 (Repair)
=35000

SP = 4500

Loss =3%500

24.

25.

0
= 0,
5000 x100 = 10%

( -4 4) 5. (3)
(1) 8- 3) )10 (3)
-(3) 13.(1) ) 15. (4)
.(4) 18.(2) ) 20. (3)
(3) 23. (3) 24.(4)25. (3)

I GENERAL AWARENESS I

Laterite, soil layer that is rich
in iron oxide and derived from
a wide variety of rocks weath-
ering under strongly oxidizing
and leaching conditions. It
forms in tropical and subtropi-
cal regions where the climate is
humid.

Loss % =

4.
9.
14
19

— e — —

1
.(3
(1

2022-23 Vijay Hazare Trophy
Champions - Saurashtra
Runners-up - Maharashtra
Player of the series - Ruturaj Gaikwad
Most runs - Narayan Jagadeesan
Most wickets - Jaydev Unadkat

9.(1)

10.(2)

Tata Vadya - tabla and

mridangam

Magnetic Tape is a storage me-
dium for digital data, typically
used in magnetic tape drives,
and consists of a thin strip
of plastic coated with a mag-
netic material.

Optical Disk is a type of stor-
age media that uses laser light
to read and write data, includ-
ing formats like CD, DVD,
and Blu-ray.

Flash Memory is a type of non-
volatile memory that can be
electrically erased and repro-
grammed, commonly used
in portable devices like USB
drives, memory cards, and
solid-state drives.

11.(3) Champaran Agrarian Law was

12.(3)
13.(4)

passed by the British Govern-
ment in 1918 after the Ma-
hatma Gadhi had launched his
historic Champaran
Satyagraha Movement in 1917
to abolish the forcible cultiva-
tion of indigo on the land of
farmers. This Bill Was intro-
duced in the Legislative coun-
cil on 29th November 1917 by
W. Maude.

Original Code refers to the actual
programming code written in a
specific programming language,

16. (1)

17. (4)

18. (3)

19. (3) First winner - Bhalchandra
Bhaskar Bhagwatm, Om
Prakash Bhardwaj and O. M.
Nambiar

Dronacharya Award 2022-
Jiwanjot Singh Teja (Archery)
Mohammad Ali Qamar (Boxing)

Suma Siddharth Shirur (Para
Shooting)

Sujeet Maan (Wrestling)

20. (1) Jaipur - Pink City
Bhopal - City of Lakes
Blue - Jodhpur

21. (1) The northern plain has been
formed by the interplay of the
three major river systems,
namely the Indus, the Ganga
and the Brahmaputra along
with their tributaries. This plain
spreads over an area of 7 lakh
sq. km. The plain being about
2400 Km long and 240 to 320
Km broad, is a densely popu-
lated physiographic division.
Alluvial soil is formed by the
deposition of silt by rivers. This
soil is generally fertile, rich in
minerals like lime, potash, and
phosphoric acid. It is porous
and loamy. Paddy, sugarcane,
banana, and turmeric are cul-
tivated in this soil.

4.(1) that a computer can understand 22.(1) Startup India launched by Min-
) ) ) and execute. istry of Commerce and Indus-
5:(4) Ar‘g'cle 17- abol%she's untough— Small Code, also known as mi- try.
gblhty and forbids its practice crocode, is a low-level code that 23.(1) Constitutional struggle of
nh any form. . . runs on the microprocessors in Jinnah and political struggle of
Artlc.le.18 - abolishes titles and a computer, and it is used to founding fathers, the Muslim
p.I‘OhlbltS the Sta.te from confer- implement complex instructions. League played a decisive role in
rng any t1tle,' except Naive Code refers to code that World War II in the 1940s and
m111ta'r§.7 and academic itles, on is simple and straightforward, as the driving force behind the
anY citizen. . . but may not be optimized for division of India along religious
Art1.cle 15 B prohibits fﬂ%SCI‘lml- performance or efficiency. lines and the creation of Paki-
nation against any citizen on (1) Bajrang Punia is wrestler who stan as a Muslim state in 1947.
grounds ofreligi(?n, race, caste, won Gold in Commonwealth 24. (2)
sex or place of birth. Games 2018, 2022 and 2018 25. (3) Chief of Defence Staff (CDS) was
. o Commonwealth Games Jakarta formed on 15t January 2020.
6.(1) Pralhad Joshi - Minister of Coal and the Bronze medal in the First holder —Gener;}ll Bipin
7.(2) Nakki Lake - Mount Abu 2020 Olympics in Tokyo. Rawat
Bhojtal(Upper Lake) - Madhya 15 (1) Sound waves cannot travel in ANSWER KEY
Pradesh vacuum. Sound is a longitudi- [_____ANSWERKEY
8.(2) Ghana Vadya - cymbals, bells, nal wave. The speed of the 1. (2) 2. (1) 3 (1) 4 (1) 5. (4)
and gongs. sound is directly proportional to 6. (1)7. (2 (1) 10. (2)
Sushira - flute and shehnai. the density of the medium. Fre- 11.(3) 12.(3) 13 (4) 14 (1) 15. (1)
Avanaddha Vadya - sitar and quency audible sound is from é? H; ég }41"; ég g} 52 8} gg %;
veena. 20Hz to 20000hz. '
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